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1. Write down the length of these lines in centimetres.

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

(a) ........ cm

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

(b) ........ cm

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

(c) ........ cm

scaleInterpret (2) Q1: (a) 6cm, (b), 11 cm (c) 9 cm Q2: (a) 14 cm, (b) 7cm , (c) 13 cm

1. Write down the length of these lines in centimetres.

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

(a) ........ cm

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

(b) ........ cm

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

150 140 130 120 110 100 90 80 70 60 50 40 30 20 10 0

(c) ........ cm

cbna scale: interpret (2) SRS Learning Limited



practise-learn scale: interpret (2) timelypractice.com
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